10

11

12

(2) (o) 1 and 17, prime

(b) 1.2 11 and 22, composite

(c) 1,2,3,5, 6,10, 15 and 30, composite

(d) 1,24, 11,22 ond 44, composite

(e) 1 and 47, prme

(F) 1,2,3,4 6,8 12 16, 24 ond 48, compasite
(g9) 1.2 4, 13,26 ond 52, composite

(h) 1 and 61, prime

DO K DOXOXOX XX

OXOXXXOXO X
HX@ XX XXX B X
@ XX KX @ X XK
@ X @ X

X XXX
@X®
X XXX

XX @ X
1 9. 0. 90.9.9.4CH. 9. 0.

(b) 2,3,5,7.11,13,17,19, 23,29, 31,37,41,43,47,53, 59,61, 67, 71,73, 75, 83,89, 97

(%) (o) True. &7 is o prime rumbeer. It has only foctors of 1 and &7.
(b) Folze. I is o prime number. It hos only foctors of 1 and 2
(c) Folze. &3 i o composite number. [t has foctors of 1, 3, 7, 9, 21 ond &3.
(d) Folze. Bl s o composite number. [t has foctors of 1, 3, 9, 27 and E1.




Workbook Practice 2 (pages 59 to 62)

Page

Answers

54

(M) (o) 327 37 337 317 W I 17
— e e e,

. A .

2289
(b} 1 st multiply 327 strawberries by 7.

(e} 327 = 300 (rounded to the nearest hundred)
Estimave: 300 = 7 = 2100

(d) 1 2 7
= 7
2 2 8 9

(&) There are 2289 strowberries in the marning.

(1) (@) She warks for 17T howrs per weelk. In T wesks, she works for

She works for 119 hours in 7 wesks,

(b} She gets poid 38 per hour. In 7 weeks, she will make:

1 1 1
= a
5 5 2

She will make $952 in 7 weeks,



61 (3) (o) There are 14 goats.
There are B times ai many chickens a2 goats.

2 4
X 8
I 9 2

There are 192 chickens.

(b} WWe need to sum up the total number of goats and chickens.

1 1 2
+ F
2 1 &

There are 216 goots and chickens altogether.

{&) (a) He saves $6 per day for 125 days. Therefore, he soves:

1 2 5
x &
7 5 0
Samir saves $750.
(b) $BBT - 3750
BE & 7
- 7 5 0
Il 3 7

Samir still needs to save $137.



Foge |Answers
&5 (1) {a) Fi 4 i 7 7 i [+ [+
9748
(b) Divide 928 by B to find the number of poges in soch notebook.
[c) FE+E=114
(d} There ore 116 poges in eoch notebaoke
T (2} (a) i 7 f )
AP
(b) Divide &92 by & to find the number of beods on sach nedkloce.
[c) &9+ 4=173
(d} There ore 173 beods on eoch neckloce.
71 (3} (o) B s

1432

Subtroct &80 ml from 1832 ml of milk to find the amount of milk remoining.

1632 = &0 = 972
There ore 972 ml of milk left ofter baking the cake.
(b} f ¥ ¥ ¥ ¥ f)

 —

1 1 I [ [ |
972

Diivide 972 by & to find the omownt of milk n eoch gloss
qr2+ &= 142
There ore 162 ml of milk in eadh gloss.



(%) (a) 128 436
— )

)

Add 128 ond 436 together to find the total number of cherries.
12B = £36 = 564

Thiere are S5&& cherries n total

(b)

Dirvide 564 by 3 to find the number of cherries each friend got
564 + 3= 188

Each friend got 1BB cherries.

Poge

Answers

159

{1) Lat's draw o model 1o rapresset the prablam,

12.15em 34 10em

Height of pot | Height of plant

&5 25 em

Ve subtract | to find the orswer,

So. the plont has o hesght of | 34.1 |cm.



160161 | (2} (o) Letsdrow o mode to represent the problem.

1 Lern 1.2em 1.2em 1| e 1Zem
Elack Bloscke Bleck Blodk Black
Bem

Wee deide| fo find the anreer

1.%
EiE-.I:I
= 5

1 @
=1 0

0

S, thee height of 1 blockis | 1.2 |om

b} I bcchkr are remeyed from the sinck, Find the haght of the remani
(b} 5 ™

vtack,

Im=12=24 1 .2

= 2

1. &

&l =214 =3bcm 4 L
E_¥F

= 1 _ &

I

The heighe of the remaining stack is| 36 om.

{E} Padma usid dirilar Blocks b msks @ itack that is TL42m hagh.

I4=012=325+12 17
=37

11]13I11 P

- 1 &

|

|

L= I I




163163

(3} (o) How much further does Jode walk thon Hon?
Oirow 0 made to represent the problem,

1.35km

1.35km = B60m = 1.35km = 0L86 km
= 0.49

Jude vealks | 049 km more than Han.

(b “Whotis the teeal dvancs thor Joda and Han sal: pa schoal?

1.35km + 08&km = 121 lom

Jade and Han walk a tom| detence of 221 km

{:} Jads walks fram bar hames §o acheol ond Back 5 day 2 weak
What is tha total diviance vk welks in 5 dep?

Total distonce = {1.35 ® 7) = 5
=27 %5
=135km

Judi vwealks o tetal distanze af | 13.5 [km in 5 dayd




